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¥ OEAFER  ARERTERAER . SRERERIMER  REEEELLEES  ATES -
1. Please use IS- LM model to describe the effect that central bank reduces reserve rate? (20%)
2. Please tell the difference how Keynesian economics and Classical economics decides interest rate? (20%)

3. Please show the reason why short-term and long-term inflation happen and use AS-AD model to tell their influence.
(20%)

4. We assume a person’s utility function is U = X**¥*" X and Y are two goods.

The income of this person is 50000, price of X and Y are 100, please tell the optimal consumption of X and Y. (20%)

5. Please describe what risk-averter is, and make an example for it (with figure) (20%).
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